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Question 1

The following steps areinvolved in the process of replicating DNA by polymerase chain reaction (PCR).

1. Thetemperatureis increased to 72°C to allow Tag polymerase to bind to DNA

2. Anew complementary strand of DNA s produced

3. Thetemperatureis raisedto 95°C to cause denaturation of the DNA molecule
4. Primers attach to the ends of single strands of DNA by hydrogen bonding

5. Thetemperatureis decreased to about 54°C
Which of the following represents the correct order of the steps?
Al33345552
B.3352451-52
C 12325452

D.324353152

Question 2
A polypeptide has the following amino acid sequence:
histidine - glutamine - lysine - alanine - valine - histidine - valine

The table below gives the tRNA anticodons foreach amino acid.

Amino acid tRNA anticodons
histidine CAU
valine GUA
lysine AAA
alanine GCU
glutamine CAG

A mutation causes the 18" basein the DNA sequence to be deleted.

Which of the following would represent the amino acid sequence after this deletion?

A histidine - glutamine - lysine - alanine - valine - histidine
B. histidine - glutamine - lysine - alanine - valine

C. histidine - glutamine - lysine - alanine - valine - glutamine

D. histidine - glutamine - lysine - alanine - valine - histidine - valine
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Question 3

A polypeptide has the following amino acid sequence:

alanine - alanine - valine - lysine - valine - serine

Thetable below gives the base sequences for the DNA triplets of each amino acid,

Amino acid DNA triplet
serine TCG
valine GTA
lysine AAL

alanine GCT
stop TAA

Amutation in the DNA coding for this polypeptide chain caused the tenth nucleotide to change froman AtoaT.

Which of the following would represent the amino acid sequencein the polypeptide after the mutation occurred?

A. alanine - alanine - valine - lysine - valine - serine
B. alanine - alanine - valine - stop - valine - serine
C. alanine - alanine -valine

D.alanine - alanine -valine - serine - valine - serine

Question 4

Which of the following processes involve both DNA and RNA?

|. Replication
Il. Transcription
lIl. Translation
IV. Protein synthesis

A landll

B.lL.lland IV

C.lIlonly

D.lland |V
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Question 5

Ashort section of mMRNA that was produced aftertranscription occurred has the following base sequence:

The following table shows the base sequence forcodons and the corresponding amino acids that they code for,
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AAACUUCUCAUAGAACGG

Second letter

u c A G

Uuu UCu UAU UGU u

y |uuc] P jucc | um:} b usc:| Cvs N
UUAT ., [UCA | |UAA™ stop [UGA™ Stop | A

UUG | UCG | UAG Stop |UGG Trp e}

CUUT CCU cAUT . |cBU] u

c |CuC | ., |ccc cac | ™ |cee c

- cua | [cca CAAT o |CGA A
E CUG | CCG | Pro [ CAG | cGG jAg | &
2 AUU ] ACU ] AAU ] AGU' u
i [ 4 |AUC e [ACC AAC | A0 | agc | 5o
AUA | ACA [T | Aaa T we |AGAT A A

AUG  Met |ACG | AAG | |acc ™ | &

GUU GCU] GAUT . [SeY] u

GUC GCC GAC | GGC c

© |cua | Vel laca [AR Tleandy [cca [CY | A

GUG | GCG | GAG | = |GGG G

Which of the following would represent the correct amino acid sequence coded for by this section of mMRNA?

A Lys-Leu-Pro-Asp-Gly - Ala
B. Lys-Phe-Pro-Lys-Gly-Ala
C Lys-Leu-Leu-Asp-Glu-Arg

D.Lys-Leu-Leu-lle-Glu-Arg
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